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ENGLISH VERSION

Instruction : Answer any 5 (five) questions.
1  Give the definition of social problem, explain its 14
objectives of studying.
2 Explain the inequality of caste. 14
3 Give the meaning of social problem, explain its functions. 14
4 Explain the inequality of gender. 14
5 Give the definition of dowry, explain its effects. 14
6  Give the definition of communalism, explain its 14
remedies.
7  Give the definition of divorce, explain its effects. 14
8 Explain the regional and religious disharmony. 14
9 Write short notes : 14
(1) Characteristics of social problem
(2) Causes of communalism
10 Write short notes : 14
(1) Remedies of dowry
(2) Dysfunctions of social problem
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